% Teilbarkeit von Zahlen

Durch welche der Zahlen 2,3,4,5,6,8,9,10,12 sind die
gegebenen Zahlen teilbar? Schreibe "|" oder das Gegenzeichen.

Zahl

5366

1072

6764

5641

/7936

3646

623

1855

8578

Zahl

10

12

5366

1072

6764

5641

7936

3646

623

1855

8578
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% Teilbarkeit von Zahlen

Durch welche der Zahlen 2,3,4,5,6,8,9,10,12 sind die

gegebenen Zahlen teilbar? Schreibe "|" oder das Gegenzeichen.

Zahl 2 3 5 6
5366 n N n
1072 N N N
6764 N N n
5640 |

3936 n

3640 n | n
663 | n n
1855 n | n
4578 | n |
Zahl 8 9 10 12
5366 N N N N
1072 | n n n
6764 N N N N
5640 N

3936 n n

3640 N n
663 N N N n
1855 n n N n
8578 N N N N
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